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I-203
B.Sc. (Part-II) Examination, 2020

CHEMISTRY
Paper - II

(Organic Chemistry)

Time Allowed : Three Hours

Maximum Marks : 33

Minimum Pass Marks : 11

veesš : meYeer heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ FkeâeF& mes Skeâ ØeMve

keâjvee DeefveJeeÙe& nw~ Debkeâ ØeMveeW kesâ mece#e Debefkeâle nQ~

Note : Attempt all the five questions. One question from

each unit is compulsory. Marks are indicated

against question.

FkeâeF&—I / UNIT-I

Q. 1. (a) efheveekeâeue-efheveekeâesueesve hegveefJe&vÙeeme keäÙee nw ? Fmekeâer

ef›eâÙeeefJeefOe mecePeeFS~ 4

What is Pinacol-Pinacolone rearrangement ?

Explain its mechanism.
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(b) Heâerveeue keâer Dehes#ee HeâerveekeämeeF[ DeeÙeve DeefOekeâ mLeeÙeer

keäÙeeW nw ? Devegveeoer mebjÛeveeSb efueKekeâj mecePeeFS~ 3

Why is phenoxide ion more stable than

phenol ? Explain with its resonating structures.

DeLeJee OR

(a) efvecveefueefKele DeefYeef›eâÙeeDeeW kesâ jemeeÙeefvekeâ meceerkeâjCe

efueefKeS : 4

(i) FefLeueerve iueeFkeâeue keâer HNO3 ceW ef›eâÙee

(ii) efiuemejeue keâer Hl kesâ meeLe ef›eâÙee

(iii) FheekeämeeF[ keâer R-Li kesâ meeLe ef›eâÙee

(iv) efiuemejeue keâer Deekeäpesefuekeâ Decue kesâ efYevve-efYevve

leehe hej nesves Jeeueer DeefYeef›eâÙee~

Write the chemical equation of the following

reaction :

(i) Reaction of ethylene glycol with HNO3

(ii) Reaction of glycerol with HI

(iii) Reaction of epoxide with R-Li

(iv) Reaction of glycerol with oxalic acid at

different temperature
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(b) SheekeämeeF[ keâer ef›eâÙeeMeeruelee leLee JeueÙe Kegueves keâer

ØeJe=efle keâes mecePeeFS~ 3

Explain the reactivity and ring opening

tendency of epoxide.

FkeâeF&—II / UNIT-II

Q. 2. (a) efvecveefueefKele DeefYeef›eâÙeeDeeW keâer ef›eâÙeeefJeefOe efueefKeS : 5

(i) Su[esue mebIeveve

(ii) veesJesvepeue mebIeveve

Write the mechanism of the following

reactions :

(i) Aldol condensation

(ii) Knoevenagel condensation

(b) Sefu[neF[ leLee efkeâšesve keâe  neF[^espeve DecueerÙe nw,

keäÙeeW ? 2

Why is -Hydrogen of aldehyde and ketone

acidic in nature ?

DeLeJee OR

(a) efvecveefueefKele DeefYeef›eâÙeeDeeW keâes hetCe& keâerefpeS : 4

(i) CH3COCH3 
Zn/Hg

 A
HCl



(ii)
6 5

NaOH
HCHO C H CHO  B 

(iii) 3 2 2CH CHO NH NH  C   

(iv) 4
6 5

Pd/BaSO
C H COCl 2H  D 

Complete the following reactions :

(i) CH3COCH3 
Zn/Hg

 A
HCl



(ii)
6 5

NaOH
HCHO C H CHO  B 

(iii) 3 2 2CH CHO NH NH  C   

(iv) 4
6 5

Pd/BaSO
C H COCl 2H  D 

(b) efšhheCeer efueefKeS : 3

(i) 1, 3 [eFefLeÙesve

(ii) yeeÙej efJeueerpej DeekeämeerkeâjCe

Write notes on :

(i) 1, 3 Dithianes

(ii) Baeyer-Villiger Oxidation
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FkeâeF&—III / UNIT-III

Q. 3. (a) [eF& keâeyeexefmeefuekeâ DecueeW hej T<cee kesâ ØeYeeJe keâes

mecePeeFS~ 3

Explain effect of heat on dicarboxylic acids.

(b) neHeâcewve yeÇesceeceeF[ DeefYeef›eâÙee keäÙee nw ? 2

What is Hoffmann bromamide reaction ?

(c) efJekeâeyeexefkeämeueerkeâjCe keâes mecePeeFS~ 2

Describe the Decarboxylation.

DeLeJee OR

(a) DeefYeef›eâÙeeSb efueefKeS : 4

(i) šeš&efjkeâ Decue keâe H2SO4 kesâ meeLe ef›eâÙee

(ii) uewefkeäškeâ Decue keâe HesâCšve DeefYekeâce&keâ kesâ meeLe ef›eâÙee

(iii) ÙetefjÙee keâes Oeerjs-Oeerjs 150°C lekeâ iece& keâjves hej

(iv) uewefkeäškeâ Decue keâes HI kesâ meeLe ef›eâÙee

Write chemical reaction :

(i) Reaction of tartaric acid with H2SO4

(ii) Reaction of lactic acid with Fenton's

reagent

(iii) Urea is heated gently upto 150°C

temperature

(iv) Reaction of lactic acid with HI

(b) efvecveefueefKele hej efšhheCeer efueefKeS : 3

(i) HVZ DeefYeef›eâÙee

(ii) efMceš DeefYeef›eâÙee

Write notes on following :

(i) HVZ reaction

(ii) Schmidt reaction

FkeâeF&—IV / UNIT-IV

Q. 3. (a) veeFš^esyeQpeerve kesâ veeFš^erkeâjCe keâer ef›eâÙeeefJeefOe oerefpeS~ 3

Give the mechanism of Nitration in

Nitrobenzene.

(b) efvecve hej efšhheCeer efueefKeS : 3

(i) [eF&SpeesšerkeâjCe

(ii) Sceerve keâer #eejkeâlee

Write notes on :

(i) Diazonation

(ii) Basicity of Amines
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DeLeJee OR

(a) ØeeLeefcekeâ, efÉleerÙekeâ SJeb le=leerÙekeâ Sceerve kesâ he=LekeäkeâjCe

keâer neHeâcewve efJeefOe keâe JeCe&ve keâerefpeS~ 3

Describe Hofmann method for separation of

primary, secondary and tertiary amines.

(b) >eeefYekeâ mvesner ØeeflemLeeheve DeefYeef›eâÙee keäÙee nw ? veeFš^es

Sjerve Ùeewefiekeâ ceW nesves Jeeueer veeefYekeâ mvesner ØeeflemLeeheve

DeefYeef›eâÙee keâer ef›eâÙeeefJeefOe efueefKeS~ 3

What is nucleophilic substitution reaction ?

Write the mechanism of nucleophilic

substitution reaction in Nitro-arenes.

FkeâeF&—V / UNIT-V

Q. 5. (a) efvecveefueefKele hej efšhheCeer efueefKeS : 2×3=6

(i) Sceervees Decue hej T<cee keâe ØeYeeJe

(ii) efhejer[erve keâer veeefYekeâmvesner ØeeflemLeeheve DeefYeef›eâÙee

(iii) efHeâMej-Fv[esue mebMues<eCe

Write notes on following :

(i) Effect of heat on amino-acids

(ii) Nucleophilic substitution reaction of

pyridine

(iii) Fischer-Indole synthesis

DeLeJee OR

(a) Deceervees Decue keâer efvevene[^erve kesâ meeLe DeefYeef›eâÙee

oerefpeS~ 2

Give reaction of amino acid with ninhydrin.

(b) efhejesue ceW Fueskeäš̂esefHeâefuekeâ ØeeflemLeeheve 2 Deewj 5 efmLeefleÙeeW

hej keäÙeeW nesleer nw ? 2

Electrophilic substitution take place at 2 and

5 positions in pyrrole. Why ?

(c) LeeÙeesHeâerve kesâ Sjescesefškeâ iegCe oMee&les ngS DeefYeef›eâÙeeSb

efueefKeS~ 2

Write chemical reactions of Thyophene

showing aromatic properties.
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